Unit 4: Circles and Area Assignment               Name:_________ Section_____
Grade 7 Mathematics

	Things you need to know for your test,

· Radius

· Diameter

· Circumference

· Central Angles

· Area of a Rectangle

· Area of a Parallelogram

· Area of a Triangle

· Area of a Circle

· Circles graphs – interpreting

· Circle Graphs - construction


	**Important Formulas!


Part A - Multiple Choice – Circle the correct letter.

1. The figure shows a circle inscribed in a square. Which of the following is the length of the radius? 
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a) 3.5 cm

b) 7.0 cm

 c) 14 cm 

d)  49 cm

2. What is the circumference of a circle with a radius of 4.2cm?

a)  13.19 cm

b)  12.60 cm

c) 6.59cm
 
d)  26.38

3. What is the area of the parallelogram?


[image: image2.wmf]20 cm

46 cm


a) 460 cm2

b)  920 cm2

c) 132 cm2
 
d)  1020cm2
4. If a triangle has a height of 2 cm and a base of 10cm, what is the area? 
a) 20 cm2

b)  2 cm2

c) 10 cm2
 
d)  5 cm2
5. Find the area of the coin to the nearest tenth.

a) 19.0 mm2 

b) 59.7 mm2

c) 283.4 mm2
d)  1133.5mm2
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6. In a circle that has three sectors, two central angles measure 67 degrees   and 154 degrees. What is the measure of the third angle?

a) 87 degrees        b) 139 degrees            c) 221 degrees         d) 360   degrees  

Part B - Questions

1. Draw a circle, using a compass

a) with a radius of 2.8 cm            b) with a diameter of 7.2 cm 

2. Find the diameter of each circle with the given radius  
A) r = 4 cm

                        B) r = 5.2 m
3. Find the radius of each circle with the given diameter  
A) d = 10 cm

                         B) d = 6.4 mm
4.  A ferris wheel has a circumference of 125.6 m.  What is its diameter?
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5. Estimate and calculate the circumference of each circle 

A) d = 5 cm

                         B) d = 4.2cm



6. A circular garden has diameter 2.4m.  The garden is to be enclosed with 

plastic edging.  How much edging is needed?  The edging costs $4.53/m.  What is the cost to edge the garden?  Include calculations and a diagram.

7.  Find the area of the shapes below (don’t forget your units).




A)


5 cm



B) 

  3 m
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3.5 cm
















         6m

[image: image10.png]


[image: image11.png]Pie Preferences

Cherry
Pumpkin 23%
30%

Pecan
8%

Cocunut Apple
Cream 3% 36%




C) 




D) 




       6cm



18 m

3.5 cm




10 m

8.  How much fabric will Daniel need if he has to replace both sails on his boat?






   9m  10m




    6m

7.2m

9. Estimate and calculate the area of the following circles. 
A) r = 9cm

             B) r = 6.2 cm


  C) d = 8 m

10.  Mr Baker made an apple pie with a diameter of 25 cm.  He cut the pie into 6 equal slices.  Find the area of each Slice of pie.






11. The outer ring of a Canadian Toonie has a radius of 14 mm and the inside has a radius of 8 mm. What is the area of the outer ring?










14mm










8mm

12.  The results for a survey of students from GC Rowe and their favourite sports are below.    
A) Draw a circle graph. 







	Hockey
	12

	Volleyball
	13

	Basketball
	15

	Wrestling
	10



[image: image5.png]




	Sport
	Frequency
	Fraction
	Fraction as a percent
	% as an angle (% x 360°)

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


B) Which sport is the most favourite sport at GC Rowe and how do you know from your circle graph?








C) What percent of the students liked wrestling the most?
   (Show your workings)

D) Using this information, estimate how many people from the 400 students at Rowe like Volleyball the best.








13. There were 250 people surveyed.





A) How many people liked pumpkin pie best?

B) Which two pies make up about half of

the favourite pies? 

C) Which pie was the least favourite?



14. Courtney's mom was decorating her bedroom and placed a round mat on the floor near the bed.  Courtney has just learned about circle in math class and was wondering about the area of the mat. The tag on the mat said it was 60cm wide. She performed the following calculations. Are Courtney's calculations reasonable, explain why or why not.


15. Find the missing angle measure in the following circles.
a)                                                       b)  

	Outcome
	Grade

	M01 Radius, Diameter, Central Angles


	

	M01 Circumference


	

	M02 Parallelograms, Triangles

	

	M02 Circles 

	

	SP03 Interpreting circle graphs


	

	SP03 Constructing Circle Graphs 


	


Comments 
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d = 60 cm


r = 30cm





A = � EMBED Equation.3 ��� x r x r


A= 3.14 x 30 x 30


A = 3.14x 9000





A = 28 260 cm2
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